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General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.

(it) All questions are compulsory.

(iti) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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SECTION - A

3H Uewhigial &1 M IR G=1 fafae g o1 # o9 F1eq o] ¥ |

Write the name and structure of an alcohol with three carbon atoms in its
molecule.

FT T & 96 hIg TRIF TR T Ih! w1 & STl & 2

What happens when a mature spirogyra filament attains considerable
length ?

IS Wa &1 &ifg o= =1 faog 81 02

The depletion of ozone layer is a cause of concern. Why ?

UR ufgdl &t AfYehed1 § ST 2 aTel <9ur 1 9 fafe | 39 Jfa gr S=a
a9 fHg TR 9T fHan S €, S9! ARl St |

Name the type of mirrors used in the design of solar furnaces. Explain how
high temperature is achieved by this device.

“TageRT ST T A4T? T STTia 9§ 3Td: TAFE ANl SR YIfeu
forg YRR Y g3 ?

“What was Chipko Andolan” ? How did this Andolan ultimately benefit the
local people and the environment ?

“Sftareg e R ST | Afvas I 717 39 e &1 gfie & faw R
s

“Burning of fossil fuels results in global warming”. Give reasons to justify this
statement.

o
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Write chemical equation of the reaction of ethanoic acid with the following :

(a) Sodium; (b) Sodium hydroxide; (¢) Ethanol.
Write the name of one main product of each reaction.

[aVilhaN

frelt Tfeeee iR fordll ieH SH1 =1 99H 319 93, S C,H,0 g1 F&fid
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An aldehyde as well as a ketone can be represented by the same molecular
formula, say C3HgO. Write their structures and name them. State the relation
between the two in the language of science.

FE T X MYAF Mad WROT F d oTed IR 16 9 wqg H feerd €
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An element ‘X’ belongs to 3™ period and group 16 of the Modern Periodic

Table.

(a) Determine the number of valence electrons and the valency of X'.
(b) Molecular formula of the compound when X’ reacts with hydrogen and

write its electron dot structure.
(¢ Name the element X’ and state whether it is metallic or non-metallic.

el 9@ X’ HT THHM WA 35 AT THH 2T B WA 18 ¥ 1 X’ Tl AT
&A1 3R RIS - T fafaw | X i 998 €&, 36 9@l AR Farsehal

1 Ieor@ ot ST

An element X’ has mass number 35 and number of neutrons 18. Write atomic
number and electronic configuration of ‘X’. Also write group number, period
number and valency of X’.
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Define reproduction. How does it help in providing stability to the population
of species ?

12. Sl o S99 o Ged § ITAM B8R A U ' Heewer’! (YASAA) wi e 3
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Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

13. (a) TR S99 R oo Hafa § fafiear gfierier €9 & < &R0l &1 9=t 3
ERIEL
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(a) List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.
(1)) How does ‘A’ reaches part ‘B’ ?
(111) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?

14. Hed A WA R 9 YR @i o oeon wds €9 9 S e © 2

How do Mendel’s experiment show that traits are inherited independently ?

15. ‘oo & 1 - famm’ SR ‘arfietel’ WER S€ § 1 3 A &l g
HITSTT |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

16. fowdt Tdu gry o wfafews, arafas, Seer 3iR—1 a1 &1 afe gfdfas
1 YU U 40 em T, A fora sl feorg 82 afe foa &1 gdw &1 3R 20 em
ARG X fgar e, o gfafers sel avm? o1 St gfe & fag #ro
Sifsie den foma ot =8 frafa & fau foeeor s wifaw )
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The image of an object formed by a mirror is real, inverted and is of
magnification — 1. If the image is at a distance of 40 cm from the mirror, where
is the object placed ? Where would the image be if the object is moved 20 cm
towards the mirror ? State reason and also draw ray diagram for the new
position of the object to justify your answer.

17. 98 <A & fau fedt feameara &1 9o wifve foh f79 9oR & =9 g0 3
foratfed vad ekl oh1 o= weiad fUsH g0 qHAifSd shieh GA: Yod Rl YT
R ST WehdT T1 ¥90 TR & TagH & TAASH 6l <R & fae oo s
ol Eifaw|

Describe an activity to show that the colours of white light splitted by a glass

prism can be recombined to get white light by another identical glass prism.
Also draw ray diagram to show the recombination of the spectrum of white
light.

18. WA o ToRaThadl ¥ Sl HUSH o Sitdl ®4l @l oI Te § gvifad fean gl AFa 3
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The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(c) List two values exhibited by your classmate who is an active member of
Eco-club of your school.

#1g heA AR P YR Hig Hy,S0, % e T4 fhT 51 X *E o= Afien
‘Q T § S fTohe 3 @i IUTYd H SRS § Yo ik I Gqw
AT ‘R’ ST €1 ‘R’ 1 Teh Y], T 8 W, 6 SRSAGAEE o I 9 qell
ST o @9 ST I g1 P, Q 3R R &I W= iR wiwfaa stfufswansti &

(e HR faf@ua |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

RIYT T ® ? THHR! YT 1 IUH HiTST | T A TSl o Thi0 § 39

1Al T 3o iU |

What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.
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Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

22. 12 cm WIHH T & tadct 4 gN fordt forar w1 wften yfdforrst oM & faw a1 5
T R
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It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the
mirror ?

(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(111)) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.

23. (a) TICiT o9 % GRS ohg i gRAME foaf@y | 5
(b) et STTERN &9 & BIHE T 20 em T14 cm SR & fopdt forma =i
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o e
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(a) Define optical centre of a spherical lens.

(b) A divergent lens has a focal length of 20 cm. At what distance should an
object of height 4 cm from the optical centre of the lens be placed so that
its image is formed 10 cm away from the lens. Find the size of the image
also.

(¢ Draw a ray diagram to show the formation of image in above situation.

HUSH AYTd F1 B 7 3H URESAl T STAN Hh Ad & T Yrhfaw
AT hl AT HifST :

e o o~

(a) Rl 1 ferfenm

(b) M FEiea IR faafEa gar

AT ST o TIRIH o faIU AR "ifgu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars
(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

HAT - o

SECTION - B
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3R T o foeqq o9 W Soar €1 o8 98 &0 il § T ¢

(a) it foaeng o3 § & gfiadd €l a1 IR o foem® 157 9the 81 < ®
b) e foeaq o3 § g aRady T gar IR fen foaeug 1= ot 8 S € |
© -t feaeng o3 § #iE ufads &1 21 IR o foewg ot e & < ® 1
() <Fl g faeag = & T H i 9iedd 6 e

10



26.

27.

31/1

A student puts a drop of reaction mixture of a saponification reaction first on

a blue litmus paper and then on a red litmus paper. He may observe that :

(a) There is no change in the blue litmus paper and the red litmus paper
turns white.

(b) There is no change in the red litmus paper and the blue litmus paper
turns red.

() There is no change in the blue litmus paper and the red litmus paper
turns blue.

(d) No change in colour is observed in both the litmus papers.

Tl H e[ o & oy g6 #is 7o oiR % &R =1feq | |9 91 & fau
T SR 4R 1 = e T A W GASH g9y SugE W@ 7

(2) WO H T AR Hfcwan FEglrms

(b) TRUM &1 9 IR Wfean TESFAES

© TUE HI qd IR Hifea TESHES

(d) TG w1 dd 3R Hfcway TRSIHES

For preparing soap in the laboratory we require an oil and a base. Which of

the following combinations of an oil and a base would be best suited for the
preparation of soap ?

(a) Castor o1l and calcium hydroxide

(b) Turpentine oil and sodium hydroxide

(¢) Castor oil and sodium hydroxide

(d) Mustard oil and calcium hydroxide

MU foame & TH-98 H WA & AU Aevee 6k Sa IUded @l ¢ |
3ok foemerd # Iuctsy ofaull & i< fu 9gi 4§ 4 9% Tk 998 g Sk
TS WG Sl 3THA 9 § Hie T, 98 SH HoR Sia o1 o

Nes b

(a) Tifedd FRES, Hfcqaq FTINES
(b) TIREE FAREE, Hieam TGS
¢ wifead FREs, FHREY FRES
) Hfeqad wiNEs, FHREE FRES
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In the neighbourhood of your school, hard water required for an experiment
is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(a) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

GANTIICT H HeX o oSl o YUl 1 Y&Iu1 hid 9 fordfl = 7 i i er{un
ol o fafyes 9T ki Ao Al o § 1 e |

SSITE]Ul, 3T held, Joligy, Ty, SSUe gR, s |

39 YT 1 TU&0 H < GvEr ferh qeed 4 I8 fewuil w1, o 579 9 shad
T 9 & WS T SWE g W 9 dH Wel 9w |ifeu

(a) SITSTERUl, AR, SS9 (b) 3T<:herd, HAIFY, SSUE R

() STas, Jige, Sffsiero d) HAIFR, ST, TihT

A student while observing an embryo of a pea seed in the laboratory listed

various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(c) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

Ife oAad = <t Tl Sfesl § I < Aol ok WY I I o A FE S
feRT TEATE GASTG &, o o9 3 9 foRd i 2

(@) TSR SR Tl (b) T IR TRTw=T

() M ¥R TR (@ Tooet &R e

If you are asked to select a group of two vegetables, out of the following, having

homologous structures which one would you select ?
(a) Carrot and radish (b) Potato and sweet potato
(c) Potato and tomato (d) Lady finger and potato
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Ty fore 1 yfafoa freht o R wsfad wa €1 o |y yfafer fora
I g | T4

(a)
(b)
©
(d)
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To determine the approximate value of the focal length of a given concave

mirror, you focus the image of a distant object formed by the mirror on a

screen. The image obtained on the screen, as compared to the object is

always :

(a)
(b)
©
(d)

M ST 79 ST9HT JIRTIE bt 391 o & i ) Tl iHerl sl Sarel o6

Laterally inverted and diminished
Inverted and diminished
Erect and diminished

Erect and highly diminished

yidfersl ST o9 g 98 W WIsh{dd L foran &1 19 Afg oy e meiea
3Ten] g4 ¥ U HS T A g i FHR RO ol 3H 9q T hiwad

HT A GAE <, A1 SIY I STU&T HI €T © fop oM -

(@)
(b)
©
(d)

TE 1 Ul W YS i HX FIHTA |
G I S W IR § G A |
S 7 sire W g W e o)
3 s 3 2 = g W R T
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(¢) lens slightly towards the sun

(d) lens and screen both towards the sun

39 Aot gETenen H fafye eraas vl («9) % fau i & wid | SR 9]
Tl foror 1 9y SRfed wd €, 91 YIS Y0l § qEI®yl 3Taad hivl
(~ v) SR T7ld 0T (Le) off AT T 1 3TTYH YU o YR A9 Tl Foahd

? e

@) 98T sr ¥, T Le & T IR &
(b) /iBRIT ,r 8, T Le T NI S §
© /i8I T Leq, Wg £r & T TR &

d /iBRIT Le W, WA £r & AT R T

In your laboratory you trace the path of light rays through a glass slab for
different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (< e).
On the basis of your observations your correct conclusion is :

(a) «11s more than Zr, but nearly equal to Ze
(b) ziisless than /r, but nearly equal to Ze
(¢) «11s more than Ze, but nearly equal to £r

(d) ziisless than Ze, but nearly equal to £r

14
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() 3R ce b) <A IR D

© i, ze 3N /D d sr, Z/A I D

In the following ray diagram the correctly marked angle are :

(a) «iand Ze (b) <A and #D

(¢ A, Zeand £D d zr, A and £D

I3 B Th o HIfeqH BRSNS e Juf Tk § fau T tdHigs st 2
¥ foamar 1 7 @ ge Yeron &1 geEd oAy, R 3 v ¥ g 9
sttufsran o fawa ® 9t e g% # fae =ifeq) 2R arelt Tt stfufshan

&1 TS e ff fafau |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.
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HIE D T H BF 9 STAfiTeh S99 o fafirel =Xol &1 SHHaR <90 aTell T
TR 1 Y101 X @ &1 30 gfwan o1 9 fafgn) S o 98 Jerr 1 €,
3 Ifad FH A, 3G Wige UM |

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.

2.5 cm SdT8 T hIE fol 10 cm WIHT g & TRdl ST0 A9 & IR &g ‘O’
¥ 15 cm T W @ g1 79 are yfdafor &t ferfa R 9Es 90 &6 & fag
fortur e EifaT| 39 3@ H Ui & ‘07, Y& ®ihd F e Yfafors

4TS 3fhd HITST |
An object of height 2.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find

the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.
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